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ΔΙΑΣΤΗΜΑΤΑ ΕΜΠΙΣΤΟΣΥΝΗΣ 

 

Παράμετρος  
Πληθυσμού 

Προϋποθέσεις 
Μέγεθος Δείγμα-

τος 𝟏𝟎𝟎(𝟏 − 𝜶)% 𝚫. 𝚬. 

Μέσος (𝝁) 

𝜎2: Γνωστή Οτιδήποτε 𝑥 ± 𝑧𝑎/2

𝜎

√𝑛
 

𝜎2: Άγνωστη 𝑛 < 30 𝑥 ± 𝑡𝑛−1,𝑎/2

𝑠

√𝑛
 

𝜎2: Άγνωστη 𝑛 ≥ 30 𝑥 ± 𝑧𝑎/2

𝑠

√𝑛
 

Ποσοστό (𝒑) 
𝑛𝑝̂ ≥ 5 

 
𝑛(1 − 𝑝̂) ≥ 5 

 

 

𝑝̂ ± 𝑧𝑎/2√
 𝑝̂(1 −  𝑝̂)

𝑛
 

Διακύμανση 

(𝝈𝟐)   
(𝑛 − 1) 𝑠2

𝑋𝑛−1,𝑎/2
2 < σ2 <

(𝑛 − 1) 𝑠2

𝑋𝑛−1,1−𝑎/2
2  

Λόγος Διακυ-

μάνσεων (
𝝈𝟏

𝟐

𝝈𝟐
𝟐) 

  

 
1

𝐹𝑛1 − 1,𝑛2 − 1,𝑎/2

𝑠1
2

𝑠2
2 <

𝜎1
2

𝜎2
2 <

1

𝐹𝑛1− 1,𝑛2 − 1,1 − 𝑎/2

𝑠1
2

𝑠2
2 

 

Διαφορά Μέσων 
(𝝁𝟏 − 𝝁𝟐)  

𝜎1
2, 𝜎2

2: Γνωστές Οτιδήποτε 

 

𝑥1 − 𝑥2  ± 𝑧𝑎/2 √
𝜎1

2

𝑛1
+

𝜎2
2

𝑛2
  

 𝜎1
2, 𝜎2

2: Άγνωστες 𝑛1 ≥ 30, 𝑛2 ≥ 30 

 

𝑥1 − 𝑥2 ± 𝑧𝑎/2√
𝑠1

2

𝑛1
+

𝑠2
2

𝑛2
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 𝜎1
2 = 𝜎2

2: Άγνωστες 𝑛1 < 30, 𝑛2 < 30 

 
 

𝑥1 − 𝑥2 ± 𝑡𝑛1+ 𝑛2−2,𝑎/2√
(𝑛1 − 1)𝑠1

2 + (𝑛2 − 1)𝑠2
2

𝑛1 + 𝑛2 − 2
(

1

𝑛1
+

1

𝑛2
)  

 𝜎1
2 ≠ 𝜎2

2: Άγνωστες 𝑛1 < 30, 𝑛2 < 30 

 

𝑥1 − 𝑥2 ± 𝑡𝑑𝑓,𝑎/2√
𝑠1

2

𝑛1
+

𝑠2
2

𝑛2
  

 

𝑑𝑓 =
(

𝑠1
2

𝑛1
+

𝑠2
2

𝑛2
)

2

 

(
𝑠1

2

𝑛1
)

2

𝑛1 − 1 +  
(

𝑠2
2

𝑛2
)

2

𝑛2 − 1

  

 

 

Εξαρτημένα Δείγ-
ματα 

 

(
𝐷𝑖 = 𝛸1,𝑖 − 𝛸2,𝑖 

𝑖 = 1,2, . . , 𝑛
) 

𝑛 < 30 

 

𝐷 ± 𝑡𝑛−1,𝑎/2

𝑠𝐷

√𝑛
 

 

𝑛 ≥ 30 
 

 𝐷 ± 𝑧𝑎/2  
𝑠𝐷

√𝑛
 

Διαφορά Ποσο-
στών (𝒑𝟏 − 𝒑𝟐) 

 

𝑛1𝑝̂1 ≥ 5, 
𝑛2𝑝̂2 ≥ 5 

 
𝑛1(1 − 𝑝̂1) ≥ 5, 
 𝑛2(1 − 𝑝̂2) ≥ 5 

 

𝑝̂1 − 𝑝̂2 ± 𝑧𝑎/2 √
 𝑝̂1(1 − 𝑝̂1)

𝑛1
+

 𝑝̂2(1 − 𝑝̂2)

𝑛2
 

 

 

 

 

 

 

 

 

 


